Choptew -4 0
Ctodiits .

E?L@w«xf{@j h
ﬁw §2) 782 £34, ond 855

'\M’VL/ EE _ {/’7';
7l
= §2 )+ FE2 FI04 F L
X =
4
~ F22.2
Zi (5(;“—’)
- e S -
rn — |

/ (P21- §22.20%4+ (F#2-822.0"+ (24 -F22.3)

= (855 §23.2)"
(e i)
- J (—2.20%+(~40.20%F (10.80%+ C21.8)*
3 —



@

= \[4.& b F 1610 & it by 4 Jo))-2y

g
/ Gib. 25




. CHAPTER —
GWW/ (D‘z#'b*‘m ) * @

4,/.W3MWWWW

Auviotion pmd Fha phection G q procdns?
ok 5 tpe Nolotion Aehrreon Homdond devinks

And AC«MA??

4 The domalle e Hondad doviotion,

A The
PeMtzns Fo pleciiion 18P ALoAS



(p Mtoo-

. p
20 =0 rA

el /M_i‘Q.O"

& )

= (x-M <

P( —20 =
(—2=2<2)

o

8L =222)
=2p C

\

2 x 04772

(

o.954b. Ar.a




(A
b Ht g 7
s | \QQ//
/‘4:50”
1 r‘q Q‘{/l
’_ 0}@'?7'
o ‘ -3 -20 O '
(042) o
= 2
X 0.341%2 /MIG— 5o
= 0. b&2b /M—tla_— 9(/'
. Mz 77— 9577
o+ | C-/ ‘
~!, ,)
o+
a2 (-=2,2)

o1 2
C-2, 2)







@ fl o FOS8T

boty

B e
a— -

P % & o)

=P(0<£ = co3)

= Bi8ls Aea .




Cé) - 1o _p.S0

77
._1044 -——6——0"70"]‘/\ A
f(’/ffXA—asd
= P(-—‘l 524175) Finetr Codenlote
Lo +0))
=Z -] o Z=0 S 0. 24) 2 C.O fvd’f)
chd/b?
Han (0 to1) — (0 #0D
= - _p.5 $v =z =008l

A/M %\/M <Lz | hvz=-n
¥

0.241 2 — 0-1415

Ao, = 0142

=




(0@
Esconnple -
wm«»m el s e
ag'ﬁtf/' 6&ww}ﬁﬂm

Savotle b /,Hm
5 /. £2b b0

/. §25 g2

2

2.

@ /. €2% &)
5

‘ }. 28 04
F

). $2b 85

A o e

Frd p, (&) owan & &romded devinkios
(& vohrivne.



|
igz xg Cog =2 (7 =507
I ). $2b bo —0.00 |0} O. 00000 14
2| |.524 74 O.0020% |p.00000428
= I 8§25 92 | _9 00175 0.00000 20}
4. 152% £l 0. 000 2b 0.000000129,
x= ). 528 94 0.00]2% 0. 00000 | b]
k. ].x28 04 | 0000 &2 0. 000000 b F2
*. )-52b 85 | o, pooL2 0.000000bF2
§ . ).52% 92 | p.0002b 0. 0000000 b7k
S = /2.22133 [« )5 b2x10"
- |
Moo 2= %;c,‘ ] fs. 22»2{: p—
- g



@&

_ x ‘ —
= /7'/Séxlo \//»/\Y[o)ﬁlod
\

o
l
¥

:\f), byigxi0™t

( = 0, 00)2¢
5
(C) Vesriane = £

¢ - (o0.00)2¢)”

—b
). L4 x 1o

I



4o Cododote o2 W@W'@
F%-4—/W/—DW ﬂ};’}ew

@ oo 10004 omd &) Aefrren

oo and H00A.
o

! L | I

boo v OBv  Gov ¢80 |IOO -
fe Ffrne(h)

&/



(&)
7
////
() | ba3
1900 4 = & Fiee
2’; x — 8vJ. 2
“ & B =% 2
9 5 ) ovo — F#S.2
- £
& 942
o= = ], b3

Pz »woob) = P (> b43)

- p.smwe— P 0L ZF L) b43)

= 0 .Som— 0. 44352

—

= 00548 _Area

- AXM/W ;
X = ].b43 5

0.5000 — 0.by52
0. 054 ¢

1l

)




(b) bebwen @oond Goot,

gooq 900 4
PC oo éxéﬁioo):Q
‘ gﬁo_.gé—-\'??-
By G 42
P lo 4PisEE 0.5¢2.)
- = —009’?9
= PloLEz 2047 )F o Jo-ksz
> by >
p(0<zz0.502)
= §,5F2

a—

0.19/5 7 0. 225

\)

= 0. 4172 HAiea.

—_—






7

o 0504 .43,

F[/‘ﬁ«fé’ £ 5 L ibbe )

= P[osu 2z < 0972

: P[ 0= < 0'6}2‘]— F[OéZeo,f@g

V40

0.5

[l

0.34)2 — 0,19 &

I

0.14%%  Ahea

p ~—







